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BBB-16080002040200 Seat No.
M. Com. (Sem. IV) (CBCS) (W.E.F.-2016) Examination
July - 2021

Financial Accounting for Managers
(Old Course)

Time : 2% Hours] [Total Marks : 70
YA :
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ENGLISH VERSION

Instructions :
(1) All questions carry equal marks.
(2) Attempt any four questinos.

1 From the details given below prepare Cash budget for three
months from October to December :

Month Sales | Purchase | Labour | Other expenses

August [ 1,40,000 | 96,000 30,000 10,000
September | 1,50,000 | 90,000 30,000 12,000

October |1,60,000 | 96,000 36,000 12,000
November | 1,64,000 | 80,000 36,000 16,000
December | 1,78,000 | 1,00,000 | 40,000 16,000

1. Advance Tax Rs. 10,000 to be paid in November and
purchase of machinery Rs. 20,000 in October.

2.  Rent of Rs. 600 to be paid in every month.

3. Cash sales and cash purchase is 10% of total sales/
purchase.

4. Time periods: credit sales 2 months, credit purchase 1
month, labour 1/2 month, and other expenses 1/2 month.

5. Balance of cash on 1-10-12 Rs. 40,000.

2  Akash Company Ltd. provides the following information :
° Sales 25,000 Units
e Selling Price per Unit Rs. 20
e Varniable Cost per Unit Rs. 15
e Average Cost per Unit Rs. 17
° Total Fixed Cost Rs. 1,50,000
e Average Collection Period 40 Days

The company is contemplating to allow 3% cash discount for
payment prior to 15th day after a credit purchase by a
customer. It is expected that due to this policy the sales would
be increase by 20%. Assume that bad debt will not be affected.
The collection period will be decline to 20 days. The return
on investments expected by the company is 16% according
to an estimate 50% of total sales would be on discount.
Should the proposed plan be implemented ? If yes then why ?
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3  The Balance Sheet of Navya ltd as on 31-03-2020 is as under :

Liabilities Rs. | Assets Rs.

Share capital :

2500 equity shares Fixed Assets 9,980

of Rs.5 each

fully paid up 12,500

350 pref. share of

Rs.50 each

fully paid up 17,500

Share premium 2,805 | Investment in share

Profit & Loss Alc 13,100 | of subsidiary company| 4,000

Dividend Equalization

Fund 7,000 | Investment in

5% debenture 1,400 | Government security 3,500

Sundry Creditor 19,100 | Receivable from

Unpaid Dividend 25 | subsidiary company 20,000

Bank O.D 500 | Stock 9,600

Proposed Dividend 1,700 | Sundry Debtors 30,000

Bills Payable 2,700 | Bank Balance 1,000

Preliminary Expenses 250

78,330 78,330

Additional Information :
1. Reassessment value of fixed assets is decided Rs. 18,175.
2.  Market value of share of subsidiary company is

Rs. 5,000.

3. While investment in government security is valued at
Rs. 3,900.

4. Profit of the year before provision of taxation is
Rs. 15,000.

5.  Value of obsolete stock is Rs. 50.

6. Additional depreciation of Rs. 570 on fixed assets is to
be debited, due to replacement value.

7. Last year profit Rs. 250 is included in current year
profit.

8. Loss on sale of machinery Rs. 25 debited in Profit and
loss account of curent year.

You are required to calculate :

L ROR on Total capital employed.

2.  ROR on Net capital employed.

3. ROR on Average capital employed.

BBB-16080002040200] 6 [ Contd...



Ram Company Ltd. produces a standard product. Per unit cost
1s as under :

e  Direct Material Rs. 20 per Unit
e Direct Labour Rs. 10 per Unit
e Varniable Factory Overhead Rs. 6 per Unit

° Total Fixed Cost Rs. 3,00,000 and the production was 20,000
units. The profit is calculated 25% on sales. The Balance
Sheet of Ram Company Ltd as on 31-03-2020 :

Liabilities Rs. | Assets Rs.
Share capital: 7,00,000 | Land 4,50,000
Share Premium 1,00,000 | Plant 2,50,000
Provident Fund 2,65,000 | Building 4,00,000
Worker Profit
sharing Fund 1,50,000 | Equity shares of
subsidiary company 80,000
10% Debenture 2,00,000 | Equity shares of
AB company 90,000
Creditor 88,000 | Sundry Debtors 4,00,000
Worker Bank Balance 1,20,000
Compensation Fund| 2,97,000 | Stock 1,92,000
Bills Payable 1,50,000 | Underwriting
Depreciation Funds Commission 18,000
on Plant 50,000
20,00,000 20,00,000

Based on above information calculate :
1. ROR on Shareholders Rs. Fund.

2.  ROR on Total capital employed.

3. ROR on Net capital employed.

5 A toy manufacturer earns an average net profit of Rs. 3 per piece
at a selling price of Rs. 15 by producing and selling :

60,000 pieces at 60% of the potential capacity.

The Composition of his cost of sales is as follows :

e Direct Material Rs. 4 per Unit
e Direct wages Re. 1 per Unit

e Works Overhead Rs. 6 per Unit (50% Fixed)

e Administration & Selling Overhead Re. 1 per Unit
(25% Variable)
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During the current year, he intends to produce the same
number of toy but anticipates that :

a) Fixed charges will go up by 10%.
b) Rates of direct Labour will increase by 20%.
¢) Rates of direct material will increase by 5%.
d) Selling price cannot be increased.

Under these circumstances, he obtains an order for a further
20% of this capacity utilization.

What minimum price will you recommend for accepting the
order to ensure the manufacturer on overall profit Rs. 2,00,500.

6 Following Data relating to Sheetal Ltd. :

Particulars A B
Selling Unites(Selling Price

Rs. 150 per unit) 1,00,000 1,00,000
Fixed Overhead Rs. 36,00,000 | Rs. 15,00,000
Estimated Profit per annum Rs. 24,00,000 | Rs. 15,00,000

You are required to calculate :

L Profit Volume Ratio

2. Break Even Point/Angle of incidence
3. Margin of Safety
4

The level of sales units at which both the product "A"
and "B" will earn the same profit, then how many units
are sold of product "A" and "B" ?

7  Explain the Government accounting system. Discuss its importance
in detail.

8 Write Note on :
A. Scope of Management Control Strategy.
B. Duties of Comptroller and Auditor General of India.
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